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CS/INTPCS/SEM-2/CH-425/2011

2011
SYNTHETIC & BIOLOGICAL ORGANIC
CHEMISTRY
Time Allotted : 3 Hours Full Marks : 50

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words

as far as practicable.

Choose the correct answer any two for the following :
2x3=6
a) Suggest three protecting groups for amine functional
group.
b)  Suggest three ortho directed metalation groups.
c¢) What is chiral auxiliary ? Give one example.

How can you accomplish the following transformations

(Any five) ? 5x2=10
I MeO
CHO
® Q 2? HO?CO;!
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3.  Write down the reagents for the following 11;_r_a}r_1 g

(Any five ) :  5x1=15
OMe OMe cHo
Br 7 t : CHOH ? H
(b) I
@ m MeS/\/LNHFoc MES/\/I\NHFoc
CO;Me CO;Me H3C>‘- 9 e 4<=\c02
? Et
? d cho —
© el Q\/ @ t-Bu(Me),Si0 t-Bu(Me),Si0

COH

Ho, H 2 H_ N ? O¢0
(© R>\R. - R>\R, ® C NH
Ny

4. Write down the product for the following synthetic schemes

(any two). 2x3=6
@ g ~ 2equivalent9-BBN  FI(PPhs)s , NeOH, HZOI?
I Z THE (c-Hex)
(i3
H H Br/:k'/ Grubbs catalyst Grubbs I T ‘:h
equiv. rubbs catalys oy
() H 7 — 2 catalyst Cl'i =<H
NaH, THF P(c-(Hex)s
o ”°°>< - Cat. PTSA
R utly MeOH
@Ho (T XL ? -2 -2
HO OH H'. Acetone PTSA = p-toluenesulfonic acid

S. Write down the plausible Heck reaction mechanism for the

synthesis of the following compound. 3
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6. Suggest plausible synthetic schemes for

compounds from easily available starting matlef{élé' (Aﬁ&ﬁVe).

5x3=15
OsEt cH,  COMe Nﬁ Nr@
@ ) d ) @;‘“m @ FNTNR g (:):0
° e Y o “NHBoc
Me

0 (Téﬁg @
7 Me ifwo

NN

7. Suggest the synthetic schemes for the following peptide using
solid support : (Any one). 3

(CHp)4NH;

cl
@ HNJYH\(ﬁ\N/\/COZH Using this support Q_Q_/
2 H

o CH;

(b) J/ZWYO
HN 0]
{ NH
Me M

Using thi rt
)\r —Kr sing this suppo 0)'_\=/_/
O

€

8. The following starting material gives only one product upon

base treatment. Which one is correct ? Explain based on ring

closure rules. 2
CO,Me
COsMe
—- el
MeO.C N MeO,C” “NHg HCI N
OR
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